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Conic Sections (Conics)

Goal:
- to become familiar with the basic conics

- to understand the equation of circles and ellipses centered
at the origin
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The study of conics involves geometric loci (singular: locus). A
geometric locus is a set of points that share a property. The result is
usually a shape we can recognize.

Conics are geometric loci that are found by intersecting a cone with a
plane.

They are: circles, ellipses, parabolas and hyperbolas.
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hyperbola



https://www.youtube.com/watch?v=QQ4Qif0H528
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Since each conic section shares a property we are able to write an
equation that represents it.
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The equation for any circle centered at the origin is:
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How far apart are two points on a circle centered at the
origin, with a diameter of 20 units, if they have x=7
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Ellipse definition: A\ =t of ot where dhe
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The equation for any ellipse centered at the origin is:
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An ellipse can have a horizontal major axis:
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Or it can have a vertical major axis:
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Write the equation of an ellipse centred at the origin:

a) with focus at (0,3) and co-vertex at (4,0)
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